IB PreHL Solving Rational Inequalities WS
[bookmark: _GoBack]
[image: ]



	5.   
	[image: ]



	6.
	[image: ]


						 

[image: ]
image4.png
n—1 3y
ETanEY S'1+ﬁ>2

>3 10 2=25_9
x+1

4x — 28 x+1
11— e ————————
G-DesD =2 2 e 2




image1.png
[ Example g EWN

1
x 4+x+1>0'

xf 1+ xil >0 orignal inequally
% >0 Usethe LOD, (x — 4)(x — 1), combine the fractons.
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Let fix) = 252 . The zeros and undefined points are the zeros of the
numerator, x = % and denominator, x = 4 and x = —1. Create a sign chart

using these numbers. Test x-values in each interval.

Totx=-5  Tetx=0. Testx=1 Tetx=10.
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The solutions are the intervals for which the final sign is
positive: (~1, 2] or (4, o).

Exercises

Solve each inequality.
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a. TABULAR Copy and complete the table below.

Undefined
Points
=35 ;I
g =23
e = \;{t‘:ll

b. GRAPHICAL Graph each function in part a.

¢. SYMBOLIC Create a sign chart for each inequality.
Include zeros and undefined points and evaluate the
sign of the numerators and denominators separately.

[ 1

|x+2|

. |2x — 5|

T ox-3

|x +4|

Bx—1]

=0

d. NUMERICAL Write the solution for each inequality in
partc.
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ERROR ANALYSIS. Ajay and Mae are solving —
—x

Ajay thinks that the solution is (—oc, 0] or [0 o0), and Mae
thiriks that the solution is (—oo, ). Ts either of them
correct? Explain your reasoning.
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